a(d cot(d))
5

o(0 @) (rad)

1072

1073

i ] LTy 1 1K
-3 -2 -1 0 1 2 3 -3 -2 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[—=— DQM_VUOUI_RUUOU0OOUUL__Global_CMSSW_CKi__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkfit_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkfitLowPtQuad__RECO
—— DOM_V0001_R000000001__Global__CMSSW_mkfitLowPtTriplet _ RECO
= e L O )
5] o
= = d
~ ~ B TELI Y T e Y
< - #f:
> "
o =2 T FEEA:
3 o a1
T IR R c :
14 i s T ; 1 \
..... 05_ 't %'1 - #r + ,[ H.-Hiq-
: C i : al +0 ¥
e £ TR
1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

0P /P,

,_.
<
L

1072

Ratio

2 3
TP n (PCA to beamline)




	Contents
	Page 1


